Proposal No: N/9/3378/1/24/298182 Proposal Date: 09/11/2018

Institute: Hindol Degree Collece Academic Year: 2018 - 19

Scheme: Post Matric Scholarship- SC Proposal Type: Fresh



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Arts/1\	/r				·					
1	1738494	BARSHA BEHERA	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
2	1766786	BISHNUPRIYA MAHALIK	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
3	2693013	JAYASHREE NAIK	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
4	2270572	ANITA DALEI	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
5	1556892	SHESADEV BEHERA	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
6	1588458	TOFANA NAIK	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
7	1827243	JHILI DALEI	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
8	1344474	P TRUSHNAMAYEE BEHERA	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
9	2917443	BISWABHUSAN padhan	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
10	2804553	SUFALA naik	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
Course	: Plus 3/Arts/2\	/r									
11	1157020	ALOK BEHERA	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
12	1149804	TINUSEN BEHERA	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
13	2764327	SUMI ROUT	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
Course	: Plus 3/Science	e/1Yr									
14	1447441	SOUMYARANJAN SETHI	Male	SC/Hindu	10	300	3000	0	5150	5150	8150
15	802909	BANAMALI NAIK	Male	SC/Hindu	10	300	3000	0	5150	5150	8150
16	1697907	DINESH KUMAR SAHOO	Male	SC/Hindu	10	300	3000	0	5150	5150	8150
17	2933927	SRIBATSA KUMAR naik	Male	SC/Hindu	10	300	3000	0	5150	5150	8150
Course	: Plus 3/Science	e/2Yr									
18	1115561	ARMAN BEHERA	Male	SC/Hindu	10	300	3000	0	5150	5150	8150
19	1339683	SANTANU SETHY	Male	SC/Hindu	10	300	3000	0	5150	5150	8150
20	1234248	MANAS KUMAR NAIK	Male	SC/Hindu	10	300	3000	0	5150	5150	8150
21	2723158	MAYABATI i	Female	SC/Hindu	10	300	3000	0	5150	5150	8150
22	2943895	SANDIP naik	Male	SC/Hindu	10	300	3000	0	5150	5150	8150
				TOTALS:			66000		106800	106800	172800

Declaration:





Govern	mont	of (Odicha	
Govern	IIIEIIL	UI I	Juisiia	

Proposal No: N/9/3378/1/24/298182 Proposal Date: 09/11/2018 Academic Year: 2018 - 19 Institute: Hindol Degree Collece Proposal Type: Scheme: Post Matric Scholarship-SC Fresh Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution. The course fees charged/claimed by the institution are actually being charged from all students of the concerned course. All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme. The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct. A bank-account detail provided by the applicant has been properly verified. I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit. Student is not admitted against management quota seats. Student is of good conduct and has attendance of minimum 75%. Government of Above applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:	(Signature & Seal of Head of the Institution
Date:	Name (Capital Leters):



Proposal No: R/9/3378/1/25/298185 Proposal Date: 09/11/2018

Institute: Hindol Degree Collece Academic Year: 2018 - 19

Scheme: Post Matric Scholarship-ST Proposal Type: Renewal



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Arts/3Y	r									
1	994498	NIRMAL KUMAR SETHI	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
				TOTALS:			3000		4650	4650	7650

Declaration:

					of the Institution.

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution i	s affiliated to	University/Board and is recognized by the Government of India/State
Government of	. Above applicants are studying in this institution. The inf	ormation furnished by the students in their applications are verified & found correct.
In case the applicant leaves in	stitution or otherwise discontinues the studies or accepta	s any other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discont	inuance of scholarship/stipend from the period it is deter	cted.



Proposal No: N/9/3378/2/24/298186 Proposal Date: 09/11/2018

Institute: Hindol Degree Collece Academic Year: 2018 - 19

Scheme: Post Matric Scholarship- SC Proposal Type: Fresh



S	.No.	Application ID Studen	nt Name (Gender	Category/Religion	Month	Rate	Maintenence Allowance		Other Fee	Total Fee	Total Scholarship
Course: Plus 3/Arts/1Yr												
	1	2176038 GAYATF	REE GOCHHAYAT	Female	ST/Hindu	10	300	3000	0	4650	4650	7650
					TOTALS:			3000		4650	4650	7650

Declaration:

- Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.
- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution i	s affiliated to	University/Board and is recognized by the Government of India/State
Government of	. Above applicants are studying in this institution. The inf	ormation furnished by the students in their applications are verified & found correct.
In case the applicant leaves in	stitution or otherwise discontinues the studies or accept	s any other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discont	inuance of scholarship/stipend from the period it is dete	cted.



Proposal No: N/9/3378/2/25/298187 Proposal Date: 09/11/2018

Institute: Hindol Degree Collece Academic Year: 2018 - 19

Scheme: Post Matric Scholarship-ST Proposal Type: Fresh



S.No. Ap	pplication ID Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance		Other Fee	Total Fee	Total Scholarship	
Course : Pl	lus 3/Arts/2Yr										
1	1153269 RAJASHREE BEHERA	Female	ST/Hindu	10	300	3000	0	4650	4650	7650	
Course : Pl	Course : Plus 3/Science/2Yr										
2	1174126 RUNELI NAHAK	Female	ST/Hindu	10	300	3000	0	5150	5150	8150	
			TOTALS:			6000		9800	9800	15800	

Declaration:

har	Student is a bonafide student of this Institution and the academic details	provided b	by the applicant in the a	oplication form is correct as	per the records of the Institution.

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution is	s affiliated to	University/Board and is recognized by the Government of India/State
Government of	. Above applicants are studying in this institution. The information	ation furnished by the students in their applications are verified & found correct.
In case the applicant leaves in	stitution or otherwise discontinues the studies or accepts any	other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discont	inuance of scholarship/stipend from the period it is detected.	

Place :
Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Proposal No: R/9/3378/2/25/298190 Proposal Date: 09/11/2018

Institute: Hindol Degree Collece Academic Year: 2018 - 19

Scheme: Post Matric Scholarship-ST Proposal Type: Renewal



S.No.	Application ID Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Arts/1Yr									
1	1740656 SUMANTA DEHURY	Male	ST/Hindu	10	300	3000	0	4650	4650	7650
			TOTALS:			3000		4650	4650	7650

Declaration:

					of the Institution.

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution is affiliated to	University/Board and is recognized by the Government of India/State
Government ofAbove applicants are study	ring in this institution. The information furnished by the students in their applications are verified & found correct.
In case the applicant leaves institution or otherwise disco	ntinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discontinuance of scholarship/stipe	end from the period it is detected.



Proposal No: N/9/3378/6/26/320280

Proposal Date:

24/12/2018

2018 - 19

Institute:

Hindol Degree Collece

Academic Year :

Scheme:

Post Matric Scholarship-OBC/SEBC

Proposal Type: Fresh

	Application ID		Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Science	e/2Yr									
1	1895265	JOGESWARI SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
				TOTALS:			2100		5150	5450	7550

Declaration:

Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.

The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.

All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.

The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.

A bank-account detail provided by the applicant has been properly verified.

I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.

Student is not admitted against management quota seats.

Student is of good conduct and has attendance of minimum 75%.

Certified that this institution i	s affiliated to	University/Board and is recognized by the Government of India/State
Government of	. Above applicants are studying in this institution. The info	ormation furnished by the students in their applications are verified & found correct.
In case the applicant leaves in	stitution or otherwise discontinues the studies or accepts	s any other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discont	inuance of scholarship/stipend from the period it is detec	cted.

Place : Date :

(Signature & Seal of Head of the Institution)

Name (Capital Leters):



Proposal No: R/9/3378/6/26/298175

Proposal Date : 09/11/2018

Institute: Hindol Degree Collece

Academic Year: 2018 - 19

Scheme: Post Matric Scholarship-OBC/SEBC

Proposal Type : Renewal



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Arts/2\	/r									
1	1667287	TAPASWINI SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
2	1320703	MANINI DAS	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
3	1245403	MAMASHREE SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
4	1130863	SUBHADRA PRADHAN	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
5	1301380	NITU DAS	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
6	1366838	SUBHALAXMI SAMAL	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
7	1345031	PRATIKSHYA PRIYADARSANI SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
8	1254904	DIPTIMANJARI SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
9	1300685	SWAGATIKA SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
10	1229687	PRIYAMBADA MAHAPATRA	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
Course	: Plus 3/Arts/3	/r									
11	2129655	DIPTIMAYEE SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
12	1610453	DEBASMITA SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
13	1665622	DIPTIKANT SAHU	Male	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
14	1788324	CHINMAYA SAHU	Male	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
15	1845713	SIPI NATH	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
16	1872721	SASMITA SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
17	1864590	ROJALINI SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
18	937509	LUCKY SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
19	999575	PRIYANKA PRADHAN	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
20	1610537	RUPALI NAYAK	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
Course	: Plus 3/Science	e/1Yr									
21	1964503	SOUBHAGYA SAHU	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
22	1776607	Smrutiranjan Biswal	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
23	1744136	SWAGATIKA SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
24	1748244	BANASMITA ROUT	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
25	1631569	SUCHISMITA PATRA	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
26	1874063	MADHUSMITA BEHERA	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550

Proposal No: R/9/3378/6/26/298175 Proposal Date: 09/11/2018

Institute: Hindol Degree Collece Academic Year: 2018 - 19

Scheme: Post Matric Scholarship-OBC/SEBC Proposal Type: Renewal



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship		
Course	Course: Plus 3/Science/2Yr												
27	1155234	SAMAYA SAHU	Male	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050		
28	1363922	PRAJNASU DEHURY	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550		
29	2066269	RAJESH MUDULI	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550		
30	944794	SIBAPRASAD CHINARA	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550		
31	1162747	ASHOK KUMAR SAHU	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550		
32	1264589	RUTUPARNA BEHERA	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550		
33	2803045	SUJIT KUMAR sahu	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550		



Proposal No: R/9/3378/6/26/298175

Proposal Date : 09/11/2018

Institute: Hindol Degree Collece

Academic Year: 2018 - 19

Scheme: Post Matric Scholarship-OBC/SEBC

Proposal Type: Renewal



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Science	e/3Yr									
34	1689041	ASHISH KUMAR PRADHAN	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
35	2630221	SANGRAM biswal	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
36	2663564	LAREN KUMAR sahu	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
37	1206471	AKASH KUMAR BEHERA	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
38	881179	PAPUNI SAHU	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
39	941858	LALIT KUMAR SAHU	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
40	1002554	KISHORE BEHERA	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
41	809606	MANJAREE BISWAL	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
42	864260	BIKASH BEHERA	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
43	845162	MANOJ KUMAR BISWAL	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
44	1517104	BINDUSAGAR PRADHAN	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
45	1807218	SRABANI SAHOO	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
46	1670826	AMIT KUMAR SAHOO	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
47	1339594	PRIYADARSINI BEHERA	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
48	1712748	BINAPANI SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
49	943114	RANJAN BISWAL	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
50	976426	SUBHAKANT JENA	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
51	1895670	DEBI PRASAD MUDULI	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
52	1318600	SATYAJIT BISWAL	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
53	365491	ANIL SAHU	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
54	832065	Arya Kumar Jnanendu	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
55	938605	SANGITA SAHOO	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
56	2874155	SIPUN pradhan	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
			·	TOTALS:			117600		277900	294700	412300

Declaration:

Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.

The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.



C					- III - I	
Gov	erni	men	τ οτ	U	ais	na

Proposal No: R/9/3378/6/26/298175 Proposal Date: 09/11/2018 Academic Year: 2018 - 19 Institute: Hindol Degree Collece Proposal Type: Scheme: Post Matric Scholarship-OBC/SEBC Renewal All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme. The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct. A bank-account detail provided by the applicant has been properly verified. I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit. Student is not admitted against management quota seats. Student is of good conduct and has attendance of minimum 75%. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.



Place:

Date:

(Signature & Seal of Head of the Institution)

Name (Capital Leters):

Proposal No: N/9/3378/6/26/298176 Proposal Date: 09/11/2018

Institute: Hindol Degree Collece Academic Year: 2018 - 19

Scheme: Post Matric Scholarship-OBC/SEBC Proposal Type: Fresh



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Arts/1	/r									
1	1767283	NIBEDITA ROUT	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
2	1658179	SUCHITRA NAYAK	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
3	1758755	KSHYATIPARNA BISWAL	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
4	1758885	ANISHA DEHURY	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
5	2823473	SWAPNARANI SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
6	2261643	SUBHADARSHINI MUDULI	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
7	2273064	LAXMIPRIYA SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
8	2677492	MAHASWETA BISWAL	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
9	1559804	PRITIMAYEE JENA	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
10	1737039	SOMALIN NAYAK	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
Course	: Plus 3/Arts/2\	/r									
11	1209590	SUBHASMITA SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
12	1192456	RUBINA NAYAK	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050
13	2955823	PRIYANKA PRIYADARSANI maharana	Female	OBC/SEBC/Hindu	10	210	2100	300	4650	4950	7050

Proposal No: N/9/3378/6/26/298176 Proposal Date: 09/11/2018

Institute: Hindol Degree Collece Academic Year: 2018 - 19

Scheme: Post Matric Scholarship-OBC/SEBC Proposal Type: Fresh



										EDM/77/4	a demokration
S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Science	e/1Yr									
14	2822009	ROJINA BEHERA	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
15	1770802	MANOJ KUMAR BEHERA	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
16	2763802	DIBYARANJAN biswal	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
17	1843415	SUDHANSHU BISWAL	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
18	2803033	PRITESH KUMAR sahoo	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
19	1771089	RAJESH SAHU	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
20	1752645	SUBHASHREE PRADHAN	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
21	1779940	DIPIKA SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
22	1739206	ADIT SOMAPRAKASH SAHU	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
23	2239452	SMRUTI PRAKASH SAHU	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
24	1847531	SIDHARTHA BEHERA	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
25	1943876	DEBASISHA PRUSTY	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
26	2564407	SOUMYARANJAN pradhan	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
27	1863636	DIPTIRANJAN BEHERA	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
28	1768329	BADAL SAHU	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
29	2876466	RUTUPARNA SAHU	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
30	2900979	SUCHISMITA sahoo	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
31	2706377	BIKASH CHANDRA SAHOO	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
32	2887816	SINU sahoo	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
33	1776166	RUDRANARAYAN GHADEI	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
Course	: Plus 3/Science	e/2Yr									
34	2624576	BIKASH PARIDA	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
35	2585730	MAMALI sahu	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
36	1209766	SITA NAYAK	Female	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
37	2629769	DIBYARANJAN BEHERA	Male	OBC/SEBC/Hindu	10	210	2100	300	5150	5450	7550
			'	TOTALS:			77700		184050	195150	272850

Declaration:





C					- III - I	
Gov	erni	men	τ οτ	U	ais	na

Proposal No: N/9/3378/6/26/298176 Proposal Date: 09/11/2018 Academic Year: 2018 - 19 Institute: Hindol Degree Collece Proposal Type: Scheme: Post Matric Scholarship-OBC/SEBC Fresh Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution. The course fees charged/claimed by the institution are actually being charged from all students of the concerned course. All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme. The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct. A bank-account detail provided by the applicant has been properly verified. I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit. Student is not admitted against management quota seats. Student is of good conduct and has attendance of minimum 75%. Government of Above applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:



Proposal No: R/9/3378/1/24/298181

Proposal Date : 09/11/2018

Institute: Hindol Degree Collece

Academic Year: 2018 - 19

Scheme: Post Matric Scholarship- SC

Proposal Type : Renewal



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Arts/1	/r									
1	1524142	SHRADHANJALI NAIK	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
2	1500906	BRAHMANANDA BEHERA	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
3	1523850	SUPRIYA NAIK	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
Course	: Plus 3/Arts/2\	/r									
4	1177602	PRIYAMBADA BEHERA	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
5	2616215	SHIBARAM naik	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
6	2304739	SUBHABRAT NAYAK	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
7	1163328	MADHUMITA SAHU	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
8	2907085	BABITARANI nayak	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
9	1352705	SUBRAT BEHERA	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
Course	: Plus 3/Arts/3\	′r									
10	881557	REETA NAIK	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
11	435029	BISWAJITA BEHERA	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
12	878705	AMULYA NAIK	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
13	993123	MALLI NAHAK	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
14	1024593	PRAJNYAPARAMITA BEHERA	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
15	992550	BAISHALI NAIK	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
16	981236	YASMINI BEHERA	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
17	827491	MALATI NAIK	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
18	1470022	SANTOSH SAHOO	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
19	623084	AMIT SAHOO	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
20	931247	DHARITRI BEHERA	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
21	2727409	SUVENDU das	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
22	913778	DEEPAK KUMAR BEHERA	Male	SC/Hindu	10	300	3000	0	4650	4650	7650
23	822791	RUBI BEHERA	Female	SC/Hindu	10	300	3000	0	4650	4650	7650
Course	: Plus 3/Science	e/1Yr									
24	175548	PRIYABRATA BEHERA	Male	SC/Hindu	10	300	3000	0	5150	5150	8150
25	1799237	BIRENDRA BEHERA	Male	SC/Hindu	10	300	3000	0	5150	5150	8150

Proposal No: R/9/3378/1/24/298181 Proposal Date:

Institute: Hindol Degree Collece Academic Year: 2018 - 19

Scheme: Post Matric Scholarship- SC Proposal Type: Renewal

		聯盟
4		
1946	겨도가락	67020

09/11/2018

S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	Course : Plus 3/Science/2Yr										
26	1148198	REETA RANI NAYAK	Female	SC/Hindu	10	300	3000	0	5150	5150	8150
27	2684856	CHANDAN KUMAR behera	Male	SC/Hindu	10	300	3000	0	5150	5150	8150
28	2663951	JAYASHREE BEHERA	Female	SC/Hindu	10	300	3000	0	5150	5150	8150
Course: Plus 3/Science/3Yr											
29	565756	RASMITA NAIK	Female	SC/Hindu	10	300	3000	0	5150	5150	8150
30	587050	SASMITA NAIK	Female	SC/Hindu	10	300	3000	0	5150	5150	8150
31	1659861	LINA BEHERA	Female	SC/Hindu	10	300	3000	0	5150	5150	8150
32	1080044	SANTOSH KUMAR SETHY	Male	SC/Hindu	10	300	3000	0	5150	5150	8150
33	1825934	PRADYUMNA PATRA	Male	SC/Hindu	10	300	3000	0	5150	5150	8150
	TOTALS:						99000		158450	158450	257450

Declaration:

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution i	s affiliated to	University/Board and is recognized by the Government of India/State
Government of	.Above applicants are studying in this institution. The information	ation furnished by the students in their applications are verified & found correct
In case the applicant leaves in	stitution or otherwise discontinues the studies or accepts an	y other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discont	inuance of scholarship/stipend from the period it is detected	

